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GENERAL STUDIES

Time Allowed : 2 Hours]

1. On the bank of which river is

Nadaun town

District ?

(A) Satlyj

(B) Ravi

(C) Beas

(D) Uhal

of Hamirpur

2.  Which mountain pass connects Spiti

to Ladakh ?

(A) Kangla

(B) Shipki

(C) Rohtang

(D) Manirang

TS : 13/(P)T—A

[Maximum Marks : 200

Which of the following is not in the

vicinity of Kullu ?

(A) Sultanpur Palace
(B) Bijli Mahadev
(C) Devatibba

(D) Kalatope

In which town is Panchvaktra

temple ? |

(A) Chamba
(B) Mandi
(C) Hamirpur
(D) Una

Which lake at Rewalsar is known -

for floating island ?
(A) Kuntbhyog

(B) Parashar

(C) Kalasar

(D) Sukhsar



AN Ega+

gHY : 2 "0

1.

T fSe =1 EF wea fme w1 o6

o 7
(A) Hags
(B) &t
(C) =a™

(D) &t

© 9. veE <4 feaf 1 wrwrE @ e

? 2

(A) T

(B) farg=nt

(C) Tream

(D) #fR

TS : 13/(P)/I—A

3.

[quifss : 200
frefafan § #E weq @ e T@
€ 2
(A) gEaAg Ye"

(B) forsrefl were

(C) wafes

(D) TR

vaaen Atex fFe w9 § T 2
(A) ==

(B) #HUEl

(C) BHRE

(D) 3

frareer 1 SEE 3id o g & g
S S § ? .

(A) =
(B) WK
(C) HTATE

(D) gEER

P.T.0.



Identify the correct chronological
order in which the following
Europeans travelled in Punjab and

Shimla Hill states ?

Select the correct answer from the

codes given below :
(7)) Vigne

(i) Moorcraft

(iii) Forster

(fv) Thomas Coryat
Codes

(A) (v), (D), @), (@)
(B) (i), Gii), (@), (iv)
(C) @), @), (i), (v)

M) (v), @), (i), (i)

TS : 13/(P)/I—A

Which action of Raja Sansar Chand
prompted the hill chiefs to invite

Gurkhas to invade Kangra ?

(A) his failure to retrieve Kangra

fort

(B) his attack on Kahlur state and

capture some territory

(C) his alliance with Sikh Chief

Jassa Singh Ramgarhia

(D) his defeat at the hands of Sikh
Chief Jai Singh of Kanhaiya
Misl

Which of the following is believed

to be the oldest among the Shimla

Hill states ?
(A) Jubbal

(B) Keonthal
(C) Bushahr

(D) Baghat
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10..

Who negotiated the arrangement
between the states of Kashmir and

Chamba by which the latter be.came

independent of the former ?

(A) Col. Lawrence

(B) George Russel

(C) David Ochterlony
(D) Captain G. Birch

Raja of which state was treated by

the wife of Dara Shikoh as her son ?
(A) Kangra
(B) Sirmaur
(C) Nurpur

(D) Guler

TS : 13/(P)/1—A

11.

12.

When did the consultative body of
rulers of princely states known as

Narendra Mandal came into

existence ?
(A) 1911
(B) 1921
(C) 1931
(D) 1941

With which district of Himachal
Pradesh is Kayang folk dance

mainly associated ?
(A) Una

(B) Solan

(C) Sirmaur

(D) Kinnaur




9. maﬁxwaﬁnwwm#ﬁ
forgy o =1 f59s g/ == &1 HYHR
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(A) SITEl
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13.

14.

With which of the following is NGO

named Vishakha associated ?
(A) Dalits

(B) Women

(C) Physically challenged.
(D) Senior citizens

When was a Sanad granted to the
Raja of Bilaspur by the British
government confirming his

possession on the right bank of

Satluj ?

(A) February, 1846
(B) March, 1846
(C) October, 1847

(D) April, 1848

TS : 13/(P)1I—A

15.

16.

Court poet of which princely state
of Shimla Hills is the author of

Shashi Vansh Vinod ?
(A) Jubbal

(B) Nurpur

(C) Guler

(D) Bilaspur

Who was the first person to vote in
the First General Elections in India

in 1951-52 ?

(A) Shyanr Sharan Negi of Kalpa
(B) Satya Dev Bushehri of Rohru
(C) Bhagmal Santha of Jubbal

(D) Anand Chand of Bilaspur



13.

14.

faymer wwE A-FIER HSH
mﬁﬁmm%?
(A) &ferdi 9

(B) wfeernsti &

(©) W w1 F o

(D) =it Arfiesi |

faamgt%wﬁéﬁsﬁﬁmaﬁ
TR g Hags & e & W SHH

arfaeR geemt &Y fem ?
(A) HEd, 1846
(B) W€, 1846

(C) s, 1847

(D) 310, 1848

TS : 13/(P)I—A

15.
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(A)‘W
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(C) TR
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17. In which year did the publication

of Hindi daily Divya Himachal
begin ?

(A) 1997

(B) 2002

(C) 2005

(D) 2007

18. Which tehsil of Mahasu district was

carved out to form Kinnaur district ?
(A) Rohru

(B) Chini

(C) Kotkl;ai

(D) Rampur

TS : 13/(P)[I—A
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19.

20.

According to Annual Status
Education Report (ASER) 2012-13
what percentage of class V students

of Himachal Pradesh Government

‘and private schools can read only

class II text ?
(A) 44.6
(B) 57.7
(C) 72.8
(D) 83.2

Who led the famous Mandi

conspiracy of 1914-15 ?
(A) Swami Krishna Nand
(B) Pandit Gauri Prasad
(C) Shobha Ram

(D) Mian Jawahar Singh



17. f&c e feea fewmaet =1 woeE &9

ad & TI ?

(A) 1997

(B) 2002

(C) 2005

(D) 2007

18. Terg el w1 A qedie Bl m
fF=ir foren T 2

A) Teg

(B) =

(C) HeEm

(D) THE
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- 20,

19. 2012-13 i a1be 118 TR IS (W)

# oER feamE WY F WEH IR
- whel A fme wfwe diee
Feq & faeneff Hae Ol FHa H1 fwma=

H UG & Ug T ¥ 2
(A) 44.6
(B) 57.7
(C) 72.8
(D) 83.2

1914-15 & Ufag HUST I & A

fegn fear o ?
(A) @H FOEA<
(B) dfed TR TEE

(C) TNUR™

(D) Tl sETeR 9w
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21.

22.

23.

Which day is obgerved as Anti-
Leprosy Day ? |

(A) October 02

(B) November 14

(C) January 30

(D) October 31

Aft;er which American scientist is
‘h-index’ named ?

(A) Jorge E. I:Iirsch

(B) Frederick Sainger

(C) Linus Pauling

(D) Percy dJulian

Which lake is jointly owned by

China and India ?
(A) Tsomoriri

(B) Tsokar

(C) Pongong Tso

(D) Thanka

TS : 13/(P)/I—A
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24.

25.

Who is George Alexander Louis ?
(A) a French novelist
(B) an American film star

(C) third in line as heir to the

British throne
(D) a German football player

In which field did Frederick Sainger

win Nobel prize twice ?
(A) Literature

(B) Economics

(C) Chemistry‘

(D) Peace

When was telegraph service closed

in India ?
(A) July, 2013
(B) September, 2012

(C) October, 2011

(D) November, 2010
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22.

23.

TS : 13/(P)[I—A
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(B) Fa%=R 14
(C) el 30
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25.

26.

(A) WE & TH ITAHEHN

(B) sl & U fhed fmar
(C) fofew T =1 dfwm # G
(D) St % TF gEa farst
wefe IR 3 fFg &5 § 9 ar e
TR Sl ?

(A) Hifecd
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g § dR WAl w9 g% H R ?
(A) S[eTE, 2013

(B) faa=y, 2012

(C) eRgs, 2011

(D) T, 2010

. B,



217.

28.

29.

Who is Shinzo Abe ?

(A) Prime Minister of Israel
(B) Dissident artist of China
(C) Chess player of Korea
(D) Prime Minister of Japan

With which game/sport is Deepika

Kumari associated ?
(A) Wrestling

(B) Archery

(C) Badminton -

(D) Boxing

What is the name of the Pakistani

bus that plies between Lahore and

Delhi ?

(A) Sada-e-Sarhad
(B) Samjhauta

(C) Karvan-e-Aman

(D) Dosti

TS : 13/(P)T—A
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30. For which work did Mridula Garg

31.

get the 2013 Sahitya Academy

Award ?

(A) Miljulman
(B) Uske Hisse Ki Dhoop
(C) Chitkobra

(D) Kathgulab

to

According Transparency

International which are the most

honest countries in the world in

2012-13 ?

(A) France and Belgium

(B) Holland and Australia

(C) New Zealand and Denmark

(D) Sweden and Germany



27. WIS A hlH § ¢

(A) TSREA & JUH HAT

(B) =9 % U= qqeqdar; (fedigmwe)
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(C) Hifn & v faers!

D) STUH B wHE Tt

28. it Rt forw B | ST § ?

29.

(A) hdl
(B) dRarsit
(C) Srefues

(D) HeFhaTSi

R R feeell & &= 9o 9Tl
qiferrl 99 &1 91 A9 § 2

(A) 91-T-HES
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(D) <Rt
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32.

33.

34.

Who was crowned as Miss World in

2013 beauty contest ?

(A) Marialin of France

(B) Navaneet Kaur of India
(C) Oaklin of Ghana

(D) Megan Young of Philippines

In which of the following year the

Asiatic. Society of Bengal was
established ?' :

(A) 1757
.(B) 1784
(C) 1835
(D) 1857
Which of the

following is

represented by the Harappan
Civilization ?

(A) Second urbanisation

(B) Third urbanisation

(C) First urbanisation

(D) Fourth urbanisation

TS : 13/(P)/T—A
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35.

36.

Which of the following rivers is

called ‘Nadittam’ in the Rigveda ?

(A) Jhelum

. (B) Ravi

(C) Beas
(D) Saraswati

The officer who enjoyed authority
over a large pasture ground was

known as during Rigvedic period ?
(A) Gramini

(B) Vrajapati

(C) Kulapas

(D) Senani



32.

33.

34.

2013 & fava g<d gea # 58 fiag
aee &1 faam faen ?

(A) wE =1 HifEfeE

(B) WRA @I Faid R

(C) =1 w1 siwfaa

(D) frfadia =1 = 47
frafafea § § fea ad 4 uferafes
GrEedt e S i e g8 A ?
(A) 175.7

(B) 1784

(C) 1835

(D) 1857

frefafes 7 9 sson war feas
yfafafaes = & 2

(A) feda et
(B) Fad RIS
(C) g9 TR
(D) =gd TR

TS : 13/(P)/I—A
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35.

36.

frefafea 5 9 fog =8 &1 wEg |
et M o R ?'

(A) s

(B) Tt

(C) =g

(D) |t

wfed He § S AR o a€n
IRE R =0 T o 9% fwa T

H SE S oo ?
(A) wfHoR
(B) arerafa

(C) =he9™

(D)

PTO.



37. Match names of List I with that of
List IT and select the correct answer

from the codes given below :

List I List IT
(@) Kailashanath Temple (i) Halebid
(6) Brihadeshwar Tempie (ii) Shravanabelgola
(¢) Hoyasaleshwar Temple (iii) Kanchipuram
(d) Gomteshwar (iv) Tanjavur
Code :

(A) (@)-(i) (b)-Gii) (c)-(iv) (d)-(i)
(B) (a)-(iit) (b)—(v) (e)-i) (d)-(ii)
(C) (a)-(iii) (B)Gv) (e)-Gi) (d)-)
(D) (a)-(@) * (b)) (e)-liv) (d)-(ir)

38. Which of the f‘ollowing is the author

of Tamil Ramayana ?
(A) Pampa
(B) Ponna
(C) Ranna

(D) Kamban

TS : 13/(P)I—A
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39. Which of the following rivers

‘Swargadwari’ is located at ?

(A) Indus

(B) Ganga

(C) Godawari

(D) Brahmaputra

40. Who among the following increased

the Mansab from 5,000/- to 7,000/~ ?

(A) Akbar

(B) Jahangir

(C) Shah Jahan

(D) Aurangzeb

|
1
|

|




37. I3 =i &1 g1 11 % g gafaa .
T = 39. frafafes & 4 g 96 w ‘wigr’

Hifer AR 1 2 | e W H T
EAELEE feom & 2
LR et 1
A
(@ e el @ TRfES (A T
(b)‘ Tﬁi‘ﬁﬂﬂf‘?{ (i) HFAAEATIe ®)
(c) THFOWA AFEX (i) HERA ,
(@) TIYaR (iv) TSI (©) TR
He
(D) s&rgA
(A) (a)-(ii) (b)—iit) (e)iv) (d)-7)
(B) (a)—(iii) B)—Gv) (e)~G)  (d)—Gi) | 40. F=fafea 4 § e 5000/- & w394
©) (@)-Gii) B)«w) -G DD " & Aol 5
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41. Which of the following political

parties was called ‘Rajadroha Ka

Karkhana’ by the British\?
(A) Muslim League

(B) Indian National Congress
(C) Communist Pa{rty of India
(D) Unionist Party "

42. Who among the following
established the Central Hindu

School at Banaras ?

(A) Madan Mohan Malviya
(B) Annie Besant

(C) ‘Raja Ram Mohan Roy

(D) Swami Dayanand

TS : 13/(P)T—A

20

43.

44.

45.

l

Rani Gidalu was one of the freedom |
fichter from the north-east. She
hailed from one of the following |

states. Identify it :

(A) Nagala;nd

(B) Manipur

(C) Assam

(D) Meghalaya

Which of the following states did not ‘
return Congress in power after thé i
first provincial elections in 1937 ?
(A) Punjab

(B) Gujarat

(C) Sindh

(D) Madras

Which is not temperate grassland ?
(A) Prairie

(B) Steppes

(C) Compos

(D) Downs



41.

42.

frafafea aefas oféal 5.9 fafew
m‘m@zmm’aﬁ%a ?
(A) Hfem &

(B)urz?ﬁarn:gﬁ'qm

.(C)mugﬁeqﬁafcﬁgﬁgm

(D) Ffafe adl

frafafaa 8 9 ey k9 § S<19

ﬁﬁzazam"rwmﬁﬁ’r?

(A) Hed Hred Heard

(B) wHt #iEe

(C) TS THHEA T

(D) =T gIE<
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43.

44.

45.

T fitee] Sw-gd | U A= St
of | =g Frefafea § @ s s § «4f ?
TS UgdE HiST

(A) ATTEUE

(B) #forgR
(C) 3=q
(D) ftsn?«m

frafafea 8 @ feg v 3 1937 § 999
g=itg gAE S0 H g Tel et
odf 2
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(C) fau
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FAE e wayfy T8 T 2
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46. Which one of the following is

located in Atlantic Ocean ?
(A) Okinawa

(B) Bermuda

(C) Timor

(D) Male

47. Which one of the following is

incorrect ?

(1) India’s north-south extent is

3,214 km

(2) India’s east-west extent is

2,933 km

(3) India’s land frontier Iis

15,200 km

(4) India’s total geographical area
is 4.2% of total land area of the

world
(A) (1)
(B) (2)
(C) 3)
(D) (4)

TS : 13/(P)/I—A
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48.

49.

Which is correct descending order

in terms of length of river ?

(A) Ganga, Godawari, Krishna,

Narmada

(B) Ganga, Krishna, Godawari,

Narmada

(C) Ganga, Godawari, Narmada,

Krishna

(D) Ganga, Narmada, Godawari,

Krishna
Zulus tribe is found in :
(A) South America
(B) Africa
(C) Australia

(D) Asia



46. Frefafen § § S Eifes TerETR

47.

H from T 2
(A) Siife=mar

(B) sUT
(C) faur

- (D) "

frefafeg & | @ Tow § 2

(1) ¥ra &1 Iae-gfaoi famr 3,214'
foreft % |

(2) YRA H1 ga-qfe=H fa%m 2,933
foret 2

(8) YR & Y-dHr 15,200 foreft ®

(4) WG 1 |/ Adrifes a3 fava it

wd 9T # 4.2% ¥
(A) (1)
(B) (2)
(C) 3)

(D) 4)
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48. <1 =t T & IR Frefafea 3 9

FAG TEIE FH WA § 2
(A) 7, TierEd, Foom, THe
(B)Thn,m,ﬁ?ﬂaﬁ,.wﬁa
(C)ﬁﬁ,ﬁaﬁﬁ,aﬁm,m

(D) T, Her, TRmE, FEm

49. @ SHESIG 9% ST R

(A) cfeor emfes |

(B) 3w H

L (C) smfern

(D) wfern H
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50. Which of the following has the

51.

highest sex ratio as per 2011

census ?

(A) Mizoram
(B) Meghalaya
(C) Tamil Nadu

(D) Asidhva Pradash

Which one of the following is

incorrect ?

(A) No scheduled caste population

is found in Karnataka

(B) Majority of scheduled tribe
population is found in hilly

areas

(C) Main occupation of scheduled
caste population is agriculture

based activities

caste is notified as

(D) No-

scheduled tribe in Delhi

TS : 13/(P)[I—A
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52.

53.

54.

Which one of the following is

largest producer of coffee in world ?
(A) Sri Lanka

(B) Brazil

(C) Colombia

(D) Kenya

Which one of the following is not
trade block ?

(A) SAPTA

(B) EFTA

(C) OPEC

(D) UPEC

Which

is the tallest dam of

India ?
(A) Hirakud
(B) Tehri

(C) Bhakra-Nangal

LN P -

(D) Sardar Sarovar



50.

ol.

2011 St SO & FER, frEfated

% & el gatfys o erue faeam & 2

(A) Tasim
(B) HEEHE
(C) dferg
D) 3Ty W2

frefefEa § @ Sy e 2

(A) Ftes T Fgfad S i SEHe |

T T T

(B) agfea SHenfa &t aga SEed
el As A U S €

(©) srgfaa wnfa sHEET ®1 T&A
sreaE Hu anafa fwad €

D) feeelt # et off sfa 1 sglaa

Seta srfegfaa 7@ feear T

TS : 13/(PY/1—A

25

52.

53.

54.

frafafeaa # & fava =1 58 53 ==

IAEF DA & 7

(A) #ier

(B) il

(C) et

(D) Ffw
Frafafea § § e T ARG T2
& % ?

(A) Er9e

(B) ¥

(C) 39

(D)

G w1 GEd S S DA T 7
(A) ETHS

(B) <&l

(C) rErgl el

(D) HER Ut

P.T.0.



55.

56.

Which one of the following pairs is

not correctly matched ?
(A) Pittsburg of India~Jamshedpur
(B) Boston of India—Ahmedabad

(C) Silicon Valley of India—

Hyderabad
(D) Deccan Queen of India—Pune

What was the exact constitutional
status of the Indian Republic on

26th January 1950 ?
(A) a Democratic Republic

(B) a Sovereign Democratic

Republic

(C) a Sovereign Secular Democratic

Republic

(D) a Sovereign Socialist Secular

Democratic Republic

TS : 13/(P)/I—A
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57. Who among the following former

Presidents contested the election to
the office of the President of India

without resigning from the office of

vice-President of India ?
(1) Dr. Zakir Husain
(2) V.V. Giri

(3) R. Venkataraman
(4) Dr. S.D. Sharma

Select the correct answer from the

codes given below :
Codes :—

(A) (1), (3) and (4)
(B) (2), (3) and (4)
(C) (1), (2) and (3)

(D) (1) and (3)



55.

56.

frefafea # | S 3@ F& gafed
& % 7

(A) WA 1 foemeri—smeRy

(B) WA &I AR —ITEHRIER

(C) waﬁ'mﬁwaﬁr—m

(D) WG #t SEpA FEA—0

26 S 19so.a$r TR TR
mﬁ%\mﬁasﬁaﬁiws'ﬁ ?

(A) TF IS TR

(B) U WHATHI= Sl TR+

(C) T YYaET= qufRae FSiar=h

TMoTd—=

(D) T WAT— FEISER] gafae

TN

TS : 13/(PYI—A
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57. Frefafea ¥ & fFg g Tgufa A

Iysfa & e | w@res &3 fam #@

ezafa &1 gAE A8 ?

(1) BTGTW g

(2) =t &1 fft

(3) ¥R FHeTHT

(4) = T . |

9 fr U w2 H TEH IW H T
HifSY

e —

(A) (1), (3) 3R (4

(B) (2), (3) 3R (4)

(©) (1), (2) 3 (3)

M) (1) 3T (3)

P T%);



58.

59.

Which of the following are the ways

of acquiring citizenéhip of India ?
(1) Birth

(2) Descent

(3) Incorporational of Territory
(4) Naturali;ation

Select the correct answer from the

codes given below :

Codes :—

“(A) (1) only

(B) (1) and (2)
(C) (1), (2) and (4)
(D) (1), (2), (3) and (4)

The Right to Freedom under Article
19 of the Constitution of India may
be suspended by the President of

India ?

(A) under Article 360
(B) under Article 356
(C) under Article 352

(D) at any time he so desires

TS : 13/(P)/I—A
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60. Disagreement between the two

Houses of Parliament on the
following bills can be resolved by

the Houses in a joint sitting ?
(1) An Ordinary Bill

(2) Money Bill

(3) Constitutional Amendment Bill

(4) Private Member Bill

Select the correct answer from the

codes given belew :
Codes :—

(A) (1) and (3)

(B) (1), (3) and (4)
(C) (1), (2) and (3)

(D) (1) and (4)



58.

59.

frefafed § | 9Ra &1 AR T80
FH B BAY WD © 2

(1) =

(2) F

(3) &% w1 AfepEu/HAHET

(4) elepTor (FETEEsT)

Fr o T FE ) TEEd § W SW
i |

xR -

&) Fa ()

(B) (1) 3 (2)

(©) (1), (2) 3R (4)

@) (1), @), 3) 3R (@)

aRa & Tedfd gRI SfauE & IR
19 # feon T @Al F1 SATER fRE
FTeI & STwria Tia foRar S e
€ ?

(A) =R 360

(B) IR 356

(C) == 352
(D) fFd off 999 v 98 =R

TS : 13/(P)/I—A
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60. Freferfaa # ¥ fea faell ™ SH Tl

# e T SR geE
TEa & ?

(1) weEme fae

(2) o= g o

(3) Hawmfe e o

(4) vz AR fow

9 & T w2 H Ferd § W IW
T -

%z —

(A) (1), 3R (3)

(B) (1),‘(3) AT (4)

(C) (1), (2) 3R (3)

D) (1) R @)

P.T.O:



61. Which of the following union

territories do not have any

representative in the Rajya
Sabha ?
(1) Delhi

(2) Chandigarh
(3) Dadra and Nagar Haveli
(4) Lakshadweep

Select the correct answer from the

codes giveﬁ below :
Codes :—

(A) (4) only

(B) (3) and (4) only
(C) (2), (3) and (4)

(D) (1), (3) and (4)

TS : 13/(P)/I—A
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62. Which of the following languages

63.

have been declared by the
Constitution to be the languages for

conducting business in Parliament ?
(A) English

(i3) Hindi

(C) English and Hindi

(D) English, Hindi and mother

tongue

Which among the following
committees was the first to demand
constitutional recognition for

Panchayats ?

(A) Balwantrai Mehta Committee
(B) Ashok Mehta Committee

(C) G.V.K. Rao Committee

(D) L.M. Singhvi Committee



61. Fafafea d 9 faa S<swnfaa wewi =1 | 62. frefafea # @ fo amoeli =1 gfaas

g g # wE wfatiaa T8 € 2 2R THe H FEYUTET $ wEtEad ®
' ClEGIRERI ?
(1) feeeh L ™ ¥
(A) it
(2) =UENTE
(B) f&t
(3) TEU 3R TR 7hed
(C) == 3 feé=t

(4) <eIEd

(D) =ifsh, &t 3R Agym
A fed ™ oHd d 8§ 'f T

63. Tyefafaa § 9 frg 93 3 998 Ted

g -

Yl F1 Gaue geud 3 &1 H
&e i—

B ?
(A) Had (4)

(A) doa< U9 Haal HHel

Had 3R (4
o) ,(3) () (B) 2w Heal &4l

(C) (), (3) ¥R (4) () St @ T wER

(D) (1), (3) SR (4) (D) Ta. . fowe w5

TS : 13/(P)I—A _ 31 P.T.O.



64. In which of the following states

the

institutions

have Panchayati Raj

been set up in

conformity with the traditions and

customs of the local people ?°
(1) Assam

(2) Goa

(3) Nagaland

(4) Arunachal Pradesh

Select the correct answer from the

codes given below :
Codes —
(A) (1) and (3)
(B) (1) and (4)
(C) (3) and (4)
(D) (1), (3) and (4)

Which one of the following models/
theories views public policy as a
of

government activities with some

continuation previous

modifications ?

(A) Rational Model
(B) Incremental Model
(C) Group Theory

(D) Game Theory

TS : 13/(P)I—A
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66. The UN Human Rights Council

67.

68.

(HRC) was set up in :
(A) 2006
(B) 2008
(C) 2010
(D) 2012

What were the main findings of the

N.N. Vohra Committee ?

(A) Internal Security Threat
(B) Electoral Malpractices

(C) Politicisation of Bureaucracy

(D) Nexus between Politicians,

Bureaucrats and Criminals

NABARD came into existence in

the year :
(A) 1980
(B) 1982
(C) 1984

(D) 1988



64. Frettafaa § ¥ fs T § =0l T

65.

TS : 13/(P)/I—A

) geenst i T i & dfa-fasi
3R yoaEl & ey wenfud A T
T ? |

(1) =§H

(4) IEEd oW

3 A T T F wE F gl
W 9T |

e i~

(A) (1) 3R (3)

(B) (1) 3R (4)

(C) (3) I (4)

M) (1), (3) 3R (4)

fyefafiaa § & e wied/fagmi (&)
3 e ife w1 freedl TR & FrEiwa
=1 o Tl (AiEifEReT) fed S
W@l & w9 A W I € ?

(A) difer HAlEw/dehuTeE Hiee
(B) g=hiied Hisd

(¢) Wy fasm

(D) | @
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67.

68.

66. 7. TA. WAATUHR Hirdga (TH.ARH.)

H T wE g 2

(A) 2006 #

(B) 2008 #
(C) 2010 #
M) 2012 H

. TH. A HE % g e o
g ?

(A) Tafier HRaT e

amEre (NABARD) fw @d # i
q e ?
(A) 1980
(B) 1982
(C) 1984

(D) 1988

P.T.0.



69.

70.

Tl

Who is the Chairman of

Commission for Agricultural Costs

and Prices (CACP) at present ?

(A) Abhijit Sen

(B) Arjun Sengupta

(C) Ashok Gulati
(D) G. K. Chaddha

The Targeted Public Distrib{ltion
System (TPDS) was adopted in the

year :

(A) 1991
(B) 1995
(C) 1997
(D) 2002

What is India’s Global Position out
of 187 countries as per UNDP’s

Human Development Report,

2011 ?
_(A) 119
(B) 134
(C) i43

D) 137

TS : 13/(PYI—A
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(A)

73.

792. Which one of the following is correct

measure of Infant Mortality Rate

(IMR) ?

No. of infant deaths during a year
No. of live births during the year

x 1000

No. of infant deaths during a year
Total No. of births during the year

(B)

x 1000

No. of infant deaths during a year
Mid-year population of infants

(©)

x 1000

No. of infant deaths during a year
No. of still births during the year

D)

x 1000

What was the average annual

growth rate of Agricultural and

Allied Sector in India during 11th

five year plan ?

(A) 3

. (B) 3.6

(C) 4.2

(D) 28



69.

70.

71.

aﬁqmmﬁq:ﬁlmqémaﬁrm
(CACP) & 21%99 &1H & ?

(A) Ffusia a9

(B) A A
(C) 9 Teret

(D) S %. J<&

afera s-faawor womedt foFm ad # @)
H M A ?

(A) 1991
(B) 1995
(C) 1997
(D) 2002

A (2011) F FHa fosmre fae
F 3ER 187 <9 # | wra =1 Afva®
feafd (Global Position) &Il & ?

(A) 119
(B) 134
(C) 143

D) 137

mey - 1 0 i/ TNIT A

A

T2.

(A)

®

(©)

(D)

73.

adum @ § fg] 3 <X (IMR) =194
1 war fafy s T 2
w99 & 2R Fe-ge '

- x 1000
us FY % SR Sifaa ST (Live Birth) 1 W&

= ad 3 IR - B EE
x 1000

@aﬂf%'&’r{ﬁ:@mm

e o S R R we
x 1000

nwaﬁﬁﬁrﬂsﬁm‘?aﬁm

o % S - e
= 1000

o o & SN 5 S (Sl Birth) 1 ST
wra A o wd wEtaa & w11
Jeaeta A & SRE SiEa difte gis
e ot ?

(A) 3

(B) 3.6

C) 42

(D) 2-§3

P.T.0.



74. “There is enough for everybody’s

75.

need but not enough for everybody’s

greed.” Who said it ?
(A) Nelson Mandela
(B) Jawahar Lal Nehru
(C) M. K. Gandhi

(D) Rabindranath Tagore

The Khadi and Village Industries.

. Commission was established during

which of the Five Year Plans ?

(A) 4th

(B) 2nd

(C) 3rd

(D) 6th

TS : 13/(P)/I—A

76. Which of the statéments given

below is/are correct ?

(i) Bihar has the highest decadal
(2001-2011) growth rate of
population, while Kerala has

the lowest.

(ii) The best performing state in
terms of growth rate during

2011-12 in Bihar
(A) Only @)
(B) Only (i)
(C) Both (i) and (ii)

(D) Neither (i) nor (i1)

_ Which one of the following is taken

as the Base Year for estimating

GDP at constant prices in India

- during 2012-13 ?

(A) 1993-94
(B) 1999-2000
(C) 2004-05 -

(D) 2009-10



74, VydE FI oSE@ & g ww s R

75.

Wifeh Ucleh o oIeid o (AW hIhi el

g1 g fFen @@ o1 ?
(A) e T

(B) SaEemd Fow

(C) wH. . Tt

(D) TEsTg iR

Wit wd RT3 wHiE (KVIC)

aﬁwmﬁvéﬁaaﬂ'fqa‘mm%ﬁm

T 2

(A) =nedt

(B) g&dl

(C) <red

(D) =t

TS : 13/(P)/I—A
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76. T weoHl § ¥ ®59 W& &/E ?

v if

() A F1 ¥R (2001-2011)
gfig <X foer # wag sifus @ sefs
T H 9% §IH FH @

@) 2011-2012 % IRFA TG HT

% 34N (In term of Growth Rate)

R foaerR ¥=d g% ygyH &+ 9
T W ¥ -
(A) ad ()
(B) =aal (ii)

(C) 3F () T (i)

D) 3@ @) 3N 7 ()

9 H feer Fmal W Ghe "ol SR
(GDP) HI94 & fﬁq 1 2012-13 & ERH
e d | form 9d &1 e ad famn

™R ?

(A) 1993-94
(B) 1999-2000
(C) ;2004-05

(D) 2009-10

P,



78.

9.

80.

Which Indian State has the lowest
death rate according to census

2011 ?

(A) Orissa

(B) Kerala

(C) West Bengal

(D) Himachal Pradesh

In a national park protection is

provided to E

(A) Entire ecosystem

(B) Flora and Fauna

(C) Fauna only

(D) Flora only

Soil erosion can be prevented by :
(A) Deforestation

(B) Afforestation

(C) Overgrazing

(D) Vege'tation removal

81.

| 82.

83.

Climatology is the science of :
(A) Edaphic factors

.(B) Topographic factors

(C) Climatic factors

(D) Biotic factors

Ultimate source of energy for living
being is :

(A) Carbohydrates

(ﬁ) Fats

(©) Sunlight |

(D) ATB-

‘Jhum’ is a term used for :

* (A) Terrace farming

(B) Tribal farming
(C) Shifting farming

(D) Farming on a slope



78. 2011 FI ST & AR e ardE

oo 8

80.

759§ goel JgAaH @ o§ 7
(A) g0

(B) =&

(C) dfeem ama

(D) fewree wew

TH UG T A fREE WE W

_mrrnm%?

(&) Tt e T

(B) T fa 3R W= WHEE

(C) Had g WEHE

(D) ®ad aedfd FHEE &l

qel AR w1 fHEd UF S Fhdl
€ 2

(A) =7 wEF |

(B) @ U991 ¥

(C) safas =8 9

(D) a1 & &eH 9

TS : 13/(P)/1—A
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81.

82.

83.

Searg fagm feawm fomm € 2
(A) HeTHiaE HREHI H

(B) TIeFHfas HIHI I

(C) wiotaTg FHRHI =l

(D) St FRH

Sital & fau e & gayd 9 @l
€ ?

(A) FrEREESE

(B) &

(C) gd w=l

(D) T.aE.

‘g’ v T faw wgE e ® 2
(A) HERR Edt

(B) SHSIdE @it

P T0



84.

85.

86.

The working principle of a washing

machine is :

(A) Centrifugation
(B) Dialysis

(C) Reverse osmosis
(D) Diffusion

An air bubble in water will act

like a :

(A) Convex mirror
(B) Convex lens
(C) Concave' mirror
(D) Concave lens

Diffusion of light in the atmosphere

tfakes place due to :
(A) Carbon dioxide
(B) Dust particles
(C) Helium

(D) Water vapours

TS : 13/(P)/I—A
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87.

88.

89.

The characteristic odour of garlic is

due to :

(A) A chloro compound
(B) A sulphur compound
(C) Acetic acid

(D) A fluorine compound

Which one of the following is an

active component of clove oil ?
(A) Menthol

(B) Eugenol

(C) Methanol

(D) Benzaldehyde

Which one of the following is not
an essential micronutrient for

plants ?
(A) Boron-
(B) Zinc
(C) Sodium

(D) Copper



84.

85.

86.

€9 gret 7YIE 1 HE F F GE

T ?

(A) STTHRZ

(B) srfafad (eE)
(C) witad! T
(D) forazom

W H S Tk 9 F gagen fHe
S wE w0 ?

(A) STd YU

- (B) Sua @9

(C) 3Faad guul

(D) sEaet o9
Wﬁmmmﬁmm
e ¥ 2

(A) wEH SRS

(B) & & HUI

(C) @iferam

(D) Siqarsq

TS : 13/(P)1—A
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87.

88.

89.

oiegd &1 fafyre Ty few FRT |
€ ? |
(A) TR AR |

(B) wewt AfH &

(C) Tdifew eva ¥

(D) wgeie ifirer &

frfatea 3 S99 T A % dd &6l
msﬁaawaaa% ?

(A) T4

(B) guHrd

(C) fadmra

D) TifeeeEe
fretfafern 3 ¥ HFa T TR @ fag
T TR TN @ % ?

(A) drF

(B) f5i=

(C) wfeam

(D) W (™)

P.T.O.



90. Fat present below the skin surface

91.

92.

in our body, acts as a barrier

against : °
(A) loss of heat from our body
(B) loss of essential body fluids

(C) loss of salts from the body

(D) entry of .harmful micro-

organisms from the

environment
When ants bite, they inject :
(A) Glacial acetic acid
(B) Methanol
(C) Formic acid
(D) Stearic acid

The “Stones” formed in human

kidney consist mostly of :
(A) Calcium oxalate

(B) Sodium acetate

(C) Magnésium sulphate

(D) Calcium alone

TS : 13/(P)/I—A
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93.

94,

95.

Cryogenic engines ﬁnd applications
in :

(A) Submarine propulsion

(B) Frost-free refrigerators

(C) Rocket technology

(D) Researches in super-

conductivity
In eye donation, which one of the

following parts of donor’s eye is

utilized ?

(A) Iris

’ (B_) Lens

(C) Cornea
(D) Retina
The major component of honey is :
(A) Glucose
(B) Sucrose
(C) Maltose

(D) Fructose



90. B = ) Sufted o9 U SElEsd | 93, fr amewrd e fEEH gged ®id

% w9 § ferus faria @ =@ ® 2 $ 5
(A)'a'qﬁWﬁmaﬁ&tﬁi' .

(A) TS YONEA
(B) Evd& WRIfH oAl &1 &fd

) (B) gumfed weiifast

(C) & IR | waui w1 &fd

(C) Uehe daw-rh
(D) araEe ¥ e R gassial &

Ty (D) sifaarerrar oy |

91. e Uk =iel el & @ 9% 9 F<aee | 94. I5EM H, gral & A 1 BIAE A GHH
w T 2 . ] foFa S & 2

) S ik (A) smsf (afaren)

(B) fagsfer ;
(B) &
(C) wifdF 3
: (C) =it
(D) feufwm s
e (gfeaea
92. WG gFF H I 9 Teer (F) H . 4 :
e e € ? 95. TEE & YHE a9 T & ?
(A) Hfcgan sfasere (A)‘Xﬁa—ﬁ';ﬁ
(B) Hifegn & B) TES
C) Hrifyay gehe
5 (C) HTEest
(D) el Hicaad |
(D) wEers
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96.

9.

98.

Arteries supplying blood to the

heart are called :

(A) Ca?otid arteries
(B) Hepatic arteries
(C) Coronary arteries
(D) Pulmonary arteries

What is the average fat content of
“Buffalo milk” ?

(A) 7.2%
(B) 4.2%
(C) 9.0%
(D) 10.0%

Which one of the following fuels
causes minimum environmental

pollution ?
(A) Diesel
(B) Coal

(C) Hydrogen

(D) Kerosene

TS : 13/(P)/I—A
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99. Standard 18-carat gold sold in the

market contains :

(A) 82 parts gold and 18 parts

other metals

(B) 18 parts gold and 82 parts

other metals

(C) 18 parts gold and 6 parts other

metals

(D) 9 parts gold and 15 parts other

metals

100. Which one of fhe following types of

glasses can cut-off ultraviolet

rays ?

(A) Soda glass
(B) Pyrex glass
(C) Jena glass

(D) Croobes glass



96. %A H WA HI YA HE Tt gHHal

. W F FE @ T ?
(A) Hifeg gqt
(B) eufes el
(C) SR gt
(D) YeHHd gHHt

. 97. 99 % gy | oiga a9 i A fRa

e § 7

(A) 7.2%
(B) 4.2%
(C) 9.0%
(D) 10.0%

98. frfafea § @ F=E Tua- yafawn #

fefan ‘uqsm FI 87
(A) S

(B) whIFen

(C) ®IZgIeH

(D) FIH

TS : 13/(P)/I—A

99. IR ¥ o oen AFE 18-$iZ F

g1 F1 @A & ?

(A) EH T 82 WA SR 374 =3t I

18 I

(B) HM 1 18 WFT 3R 3T 9 &l

82 HM

(C) =M &1 18 9T 3R 77 =igedi &1

6 4

(D) 4™ &1 9 Y IR = =gel &

15 49T

‘100.ﬁn=ff‘aﬁ§mﬁ§fwamanaﬁam

it B e gHar ® 2
(A) Gre1 wH
(B) UrREE &
(C) ST wHiE

(D) #9 &=
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